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1. (10%)Let jx)=x’and gl)=x"+1. Compute ;(11— S[g(®)] and ;‘l—x—g[f(x)]

2. (10%) Find the critical points of the function f(x)=x’ -5x* +5x* -1 and test each to see
if it is a local maximum or minimum. Use the second derivative test if possible,
otherwise the first derivative test

3. (10%) Assume that a company sells two products X and Y. Its profit from selling x
units of X and y units of Y is given by the function P(x,y)=10x +20v-0.1(x" +y"). If the

company can product a total of 100 units of the two products together, find the
combination that will maximize its profit.






